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General Instructions :

(i)
(ii)

(iii)

(iv)

(v)

(vi)

(vii)

1.

Please read the instructions carefully.

This question paper consists of 24 questions in two Sections : Section A
and Section B.

Section A has Objective Type Questions, whereas Section B contains
Subjective Type Questions.

Out of the given (6 + 18) = 24 questions, a candidate has to answer
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.

All questions of a particular section must be attempted in the correct
order.

Section A : Objective Type Questions (30 marks) :

(a)  This section has 6 questions.

(b)  There is no negative marking.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

Section B : Subjective Type Questions (30 marks) :
(a)  This section has 18 questions.

(b) A candidate has to do 11 questions.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

SECTION A
(Objective Type Questions) (30 Marks)

Answer any 4 out of the given 6 questions on Employability Skills. 4x1=1

1) From the following, which sentence shows order, command,
request or advice ?
(A) Declarative
(B) Interrogative
(C) Exclamatory
(D) Imperative

338
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(i1)  The term “Motivation” is derived from the Latin word
(A) Movere (B) Motive
(C) Motivation (D) Motivational

(iii) From the following, which word does not describe the parameters
of individual personality ?

(A) Consciousness (B) Openness

(C) Neuroticism (D) Agreeableness

(iv) From the following, which menu option will you use to insert
shapes and images ?
(A) Tools (B) Insert
(C) Edit (D) Font

(v)  What is the meaning of the French word “Entreprendre” ?

(vi)  Which organization has given the 17 Sustainable Development

Goals ?
2. Answer any 5 out of the given 7 questions. 5x1=5
(1) In which type of insurance, the element of risk is the damage/loss

to a property or an asset ?

(ii)) The amount which is paid by the first party to the second party to
cover the potential loss is called

(111) The insurance which does not come under the ambit of life
insurance is called

(iv) For what kind of loss does the insurer agree to indemnify the
insured under the contract of ‘Fire Insurance’ ?

(v)  From the following, which one is not managed by the GIC Asset
Management Company ?
(A) GIC Mutual Fund
(B) GIC Housing Finance
(C) LIC Housing Finance
(D) Export Credit Guarantee Corporation
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(vi)  Which of the following was incorporated as a company in the year

1972 ?

(A) Life Insurance Corporation of India

(B) General Insurance Corporation of India
(C) National Insurance Company

(D) United Insurance Company

(vii) Which type of insurance is taken to cover the loss incurred by
house-breaking ?

3. Answer any 6 out of the given 7 questions. 6x1=6

(1) Which principle of insurance dictates that claim can be lodged
only for the actual amount of the loss ?

(A) Principle of Caveat Emptor
(B) Principle of Contribution
(C) Principle of Indemnity

(D) Principle of Subrogation

(i1))  From the following, which loss is covered by under Fire Insurance ?
(A) Its own fermentation
(B) Loss by explosion
(C) Loss by underground fire
(D) Loss caused by water used to extinguish fire

(iii) In which type of fire policy does the insurer re-instate or replace
property instead of paying cash ?

(iv)  Which year is known for the “Great Fire of London” ?

(A) 1668 (B) 1666
(C) 1700 (D) 1670

(v)  In valued policy of fire insurance, the principle of is
violated.

(vi)  Under the Act, the damage or loss is not covered in

fire policy.

(vii) Rakhi has gone to London for 30 days and during this period her
house was burgled. In this case, will the loss be covered under

Burglary Insurance ? If not, then why not ?
A O e O T e P R e S PN AT
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5x1=5

5x1=5

4. Answer any 5 out of the given 6 questions.

) How many ships were insured from Hawaii to Central America
by Philip IT ?

A 2 B) 3
Cc 4 D) 5

(i1)  In which city was the first company named Sun Insurance Office
Ltd. set up ?

(A) Delhi (B) Mumbai
(C) Kolkata (D) Chennai

(i1ii) When the insurer transfers its large portion of the risk to the
other insurer to bear the risk proportionately, then it is called

(iv) Name the marine policy which is useful for merchants who
regularly dispatch goods through ships.

(v) Name the marine clause which makes the insurer free from
liability that arises due to capture and seizure of the vessel by
the enemy.

(vi)  Burglary and theft insurance covers all losses except

5. Answer any 5 out of the given 6 questions.

1) Which section of Motor Vehicles Act, 1988 states that the policy
must be issued by a person who is an authorised insurer ?

(i1))  In which Act is the term “Hit and Run” used ?

(A) Motor Vehicles Act, 1988 (B) Companies Act, 1956
(C) Companies Act, 2013 (D) Insurance Act, 1938

(iii) Under which principle of Motor Vehicles Act, the claimant need

not prove negligence on the part of the motorist ?
O e P T e P
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(iv) &+t TR & aret & fore diferet wif ford ThR & § 2
A 2 B 3
C) 4 (D) 5
(v)  Ife ame 1 3 329 o fore o e & @ st g diet A
AT diferet AT e Titehd el foRam ST |

(vi) UUHR T IU9 a hH-AT R ?

6. TRumu 6 g A fordl 5 o ST AT | 5x1=5

() -0 S % dEd, Y] AR & S Afgsher 31T Eisishel @l ol el
foparT ST @ 2

(i)  oTEuaTe & B8t fire o forae fom ae diferedt ek ara &t ot eran & 2
(A) 45
(B) 10
©) 30
(D) 20

(iii)  UTfeTE) YTk ERT STaT 9T Shid o folT 31eudrer | fuffiia safr s g 2
(A) 2472 (B) 48%2
(C) 60°%e (D) 12°%

(iv) U I3 AATies Afgdetn diferet 60 & Y T Y o st AR
et g0 @ ST asRdi R |

(A) 80
B) 90
(C) 60
(D) 70

(v)  ufeacm difcre o i Tfeekan 1] forat 2 2
(vi) HuwHl S8 o d8d “siH hl A Ireq hi ST HIfT |
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(iv) How many types of policy forms are there for all types of
vehicles ?
A 2 B) 3
C) 4 (D) 5

(v)  Motor Vehicle Insurance Policy claims will not be accepted by
the company if the vehicle is used for purpose.

(vi) Which is the first element of a burglary ?

6. Answer any 5 out of the given 6 questions. 5x1=5

1) Under which insurance are medical and surgical expenses
covered during the tenure of the policy ?

(ii1) How many days after discharge from the hospital can a claim be
filed by the policyholder ?

(A) 45
(B) 10
(C) 30
(D) 20

(iii) What is the stipulated duration in hospitals to receive the claim
by the policy holder ?

(A) 24 hours (B) 48 hours
(C) 60 hours (D) 12 hours
(iv) A Senior Citizen Mediclaim Policy can be bought between the

ages of 60 and by Indian residents.

(A) 80

(B) 90

(C) 60

(D) 70

(v)  What is the maximum age to take the Mediclaim Policy ?

(vi) Explain the term “Period of Insurance” under Burglary
insurance.

338 11 P.T.O.
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SECTION B

(Subjective Type Questions) (30 Marks)

Answer any 3 out of the given 5 questions on Employability Skills. Answer
each question in 20 — 30 words. 3X2=6

7. List the different types of elements of a communication cycle.
8. How is self-motivation important for a student ?

9. What do you mean by worksheet ?

10. Explain interpersonal skills.

11. What are the advantages of Green Jobs ?
Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6

12. List the subsidiary companies of GIC.

13. Explain the term ‘Insurable Interest’ in a contract of marine insurance.

14. What is covered under third party insurance policy ?
15. Why is health insurance needed ?

16. Write any three features of Burglary Insurance.
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Answer any 2 out of the given 3 questions in 30 — 50 words each. 2x3=6

17. Ashok is the owner of a factory and has taken a fire policy for his factory.
He sells his factory to Rakesh but does not transfer the insurance policy.
After some days, the factory is destroyed by fire. Can Ashok or Rakesh
recover the loss from the insurance company ? Which principle of insurance

will be applicable in this situation and why ?

18. Explain the average clause under ‘Fire Insurance Policy’ by giving an

example.

19. Which items are not covered under ‘Burglary Insurance’ ?

Answer any 3 out of the given 5 questions in 50 — 80 words each. 3x4=12
20. Explain any four essential components of principle of insurable interest.
21. Explain any four losses that are not covered under fire insurance policy.

22. A subject matter is insured under marine insurance for ¥ 10,00,000 and
during the transit the subject matter is damaged to the extent of
T 3,00,000. In this case, how much amount will be compensated by the
insurance company to the insured ? Which principle of insurance will be

applicable and why ? Give your comments.
23. Explain the main provisions of liability under third party insurance.

24. Explain the policy that takes care of the hospitalization expenses of the

entire family under one single sum insured.
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